Doboooboooobobootoobooood

oogo-

20060 60 1901

oo

oooooooobooooooooooboobo0od00#included 0000 O#define0 0000
gooo0oooooooboboooooboooooooooooooooooooboobboooooboOoboOonon
gboboboobooooooooooooooooooon

1 OD0OoOogodod

000000 [1]J0 15000000000 6000000000000 O0O0O0OO0OOOOOOOOO
oooob 120400000bo0oooobooob0ooooooobob0oobobobooobooboooo
gbooooooooooooooobooobooobooooboboooboooooboboboooonogaon
gbbooooooboobbol2ob4000oooooooboboobobobobooooooool1200
OOo0o0o0oOoooooooOoPICO HSOOOOOOODODODODOOOOODOODOODOOODOOO
(130)0000 (40)000000OOODOOOO

good 100 1e000000000000000

e b DOUOOOUODOOOOODODODOOODODOO

- 0000obOob0ooooooobobobooboooobooooboooboooboobDOon
— #include 000000000 O0OO0DOOOODOO
— #define 0 0O0OO0O0ODOOOOOOO

e 160 D0OIDODODOODOOOOODOODOODOOODLOODODOO

— printf QO 000000 O0O0OCOOODODOODDOOOOODOODOOO
- scanf() 000000000000 O00O00OOOOOOODOO

2 Jboooooo

2.1 J0O0OO0OO0OOODOOOODOODOO (p.282)

UgecUOOOOOOOOOOOODOOOODDOODODOOOOOODOODOOOOOOOOOOODDOO
oooooooboooooobooboobobo p220000000000O0OO0O0O0OOOOOOCOOO
*000000 MOo0oooooo000 moooo




obooboobooobboboouooboboobobbobobbobooboobobOooobboboboboboon
gobodobooodbuooobboboobo oL oo bOoooDbOooDobooboboo
good

0000000000000 0000000000000000000000'0gecO000OOOOn
gooOo00oo0obOoO0doobodooObOooboOd0obOoOO0O0bOOoO0bDoObO00OdbOOoOg coboogo
0000000000000 0preprocessor(pre:0 000 O Oprocessor:000000)000000000
goooooooogd

gb0obobOobbi0o0obo0obUooobubp28300b 000000 bOobOobDOOOOOOOo
googoon

e (IIOOOOODOOMO#include
e [IOOOODOOO#define

gogoogd

22 00O0OO0O0OOOOOOO (p.282)
2,21 00000000000

gooooooooboooboboobooboooooboobOoooooboooobooooboboobboOooon
gooooo

#0000 MDooooboog

boboobobooooooboooooboooboo

e #1000 0DOO0O0DOOO0O0DO#OO0DO0OOOO0ODOOOOOCOODODOOODOOODOODOOOOnOn
oboooOo#x00000D00000DbO00000

eJ000I0CODUDOCODOOUDDODOOOOOCODOOCOUOOOOOOYyOODOODOOODODO
goooooooOooooOooOooooOooboOoOoooooooboboOooooooyyooooooO
goo

e J0UJUD0OOUDOOOUOUCODDDOUOOUULLUOODODODODDOODODOUUDOONDDOO
oooobooooooooooon

2.22 0000000 (p.284)

#include0 O OO0 #include "O0OO0ODO"OOOO0OOOOOODODOCOOODOODOODODOO
O000c<filename>0 000000000000 C0O0O00ODODOOO0O0O00O00OO00ODOCOOwixO00OO
/usr/include 0000000000000 DOO00OO0DOOODOO0OOOOOODOOOOODODO
Otinclude "myfile.h" OOOOOOOOO

000000000000 00000D0000000000000000000000000000



W N

booooboboboooooobooooboobooobbooboooooobooooooooooboooDo
obooooobo10bboooooboooooooooooboooobooobObbobooOoobooobobo1on
gooooooboobooboobooobbboooooooooooooobDobooo 10ooooDboD Do
myfile. h OO OOOOOO0O0OO0O0O0O0O0O0O0O0O0O0O0DOOO0DOO0O0OOOOOOOOOCOCOOOOOO0OO0
ooboobooooboobooboooobobooobobOOoOobOOoOoOoboOooobOooOooboooooobooo
goooooooobobbooooboooooobobobobooobbobboooboboobobobooDbDbD
goooboooobooobobooboooooo

#include 0000000000 DO0O0O0DO0O0DOOOODOODOOOHel1o World 'O000O0OO0OO0OOO
ooooooooo

uob 1:gboogooon

#include <stdio.h>
#include ”hoge”
return 0;

}

0000000000000 000000000000000000D (hoge)lOOODODOOOODOO
goooobooooboooooobooooooooooobooboobo

000 2. 000000000000 (hoge)

int main(void){
printf(”Hello World !!\n”);

O0000O#include0 000000 0OD0ODOODOOOODODODOOOOOOOOOODOODOOOO
boooobooooboooobooooboooooooooboobobooobbooooooboobooooooo
ooooboooooobboooo

ubbooboodd dobbObbo00bO0b0000dd#include <stdio.h>O0UO0OOO0OUOOOOOOOONO
0000000000 D0#include 00000000 DOstdio. h 0000000000 0O0O0O0OODOO0OO
gbobO0O0Ob00O0Ostdio.hO00O0O0OD0OOO0OOOOOOOOODOOODOODOOOOOOOOOOO0
UooboboooooboooooboooboobOooboobOobbOO00stdio.hOOOOO

less /usr/include/stdio.h

oboo0O00 f00000000vs000000000O00000DO0DO00O0O0DbODOOqODODOO

oooooooboooboooooooooooboooboboooooooooobooooobooooooDooDoOo
O00o00o0DDO0o00o0oDo0O00000oo00DOprintfO0OO0O00OO0ODOODOOOODD
ooOd

2.2.3 00000 (p.287)

o000 #defineD DO DODOODODODDOODOODODDODOOOOODOOOODODODOO
obooooooooooboobooobobooboooboobobobooooooboooobobooooon
gooooood

gbooboogoobbobobobbooboouobobobbboooobooooanb
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#define hogehoge fugafuga

U0ooooOo0bO0o0ob0Ob0o0o0ob000ob0co0Ogb0b0din hogehoge OO0 fugafugaOOOOODO
ooooo

OO0D0DO00000—0000 hogehoge— OO O0DOODOOODO0ODOOODOODOOOOOOODO
gbooobooooobooobooooooobboooooobooboobooooboboooobooooboogoon
gooo

Oo0ooo0o00 000 3000000000b0boObooo0oob0O0ooooOobo4b00000b00O00
#define NSTEPS 361

OO0D0ODOO NSTEPSOODDOODOss1000O0O0DOOOOOODOOOOOODOODOOOODO
dbboooobobbuoooboooaboobobooooboobog
gob 33ggbobooooobobobobbobooboooon2rbo0og 36000 bonoooon
gboobObOOobooOobOoooooseobioobbobboibOOOd O#define NSTEPS 5010000000
obobooooobooooooboooooboooooboooooo
gbobooobo31obobbveIiD00oooOooobooobobobobooobooooooooo
ubobDoOb0oo00b0b0O00b00O0 math.hOOODO

# define M_PI 3.14159265358979323846 /* pi */
0000000000000 0000 00000000000 DOODOOOOOO
less /usr/include/math.h

oboboooooboooooon
gbobobooboboobob—4dboobob-—-4u0oboobbdbodobboobobodd math.hO
gggoobboobobobooboobobobobbobbobooobo

gcc -o keisan sankaku.c -1m

UlmdOOO0O0O0O0O0OOO0O00O0040ann

ubd s:obobooobooooboobobooa

#include <stdio.h>
#include <math.h>

#define NSTEPS 361

void cal_function (double x[], double s[], double c[], double t[]);

/% */
/% 00DO0O0O */
/* */

int main(void){
double x[NSTEPS], s[NSTEPS], c[NSTEPS], t[NSTEPS];
int i;

cal_function(x, s, c, t);

for (i=0; i<NSTEPS; i++){




18
19
20

22
23
24
25
26
27
28
29
30
31
32
33

35
36
37

, printf ("%E\t%f\t%f\t%f\n” ,x[i], s[i], c[i], t[i]);

return 0;

/* */
/x oDooo %/
/% *
void cal_function (double x[], double s[], double c[], double t[]){

int i;

3 ODO00ODO00OD0O0OD0O0O0 (16e0)

0000000000000 0000000U00000U00DDO0U000O00OO0O0OO0OU00OOO0 (console:
000)000000000000000000000000000000000O00O0ODO0OO0OOOooOo
gboogoboboooobobooobooboobobobobobboboboooobobbbooooooooo

3.1 ODUOdOoboboood

obooboooobooobooboooboobOOoobOOobOoboooboboOoooooobobOoooboon
00000200000000000000000000 stdin000000 stdout00000O000O0O
oooooboooo

oooOooo — (0000 — stdin
ooooo0obo — 0000 — stdout

3.2 000000 printf(p.320)
3.21 0O00OO0OOOOOO

printfO) 00000000000 OOO0OO(0000)0000O0O0OO0ODOOUOUOOOOOOOOO
OD0000D00OD0O0ODO0O000OCORello worlddOOOOOOOODODOODOODOOOOODOOOOOO
000000000000 0—0O0o000o00000ooUD (p3200)00000000O0OOOOOO
ooooboooooooooobooooboooooo

printf ("%d+%d=%d\n", a, b, result);




EHDEN a=10, b=3, result=13DHE

|

printf (“%d+%d=%d\n”,a ,b ,result);

KR 10+3=13

0 1000000000000 printf 00000

oopooooobobooboooo1gboooooo
goboobboooobooboboobboobobOooooooooboooooboobboOoOoo 100040
oobooOoobooboooboooobooooboooooo
000000000 o000Doo0OO (p27)0000000OO0DDO0OO0OO0UODOUDOODOOON\Y
0\¢'00000000000000000000OO

U1.000bo00oo0ooboooooon

O ogoog good ao
oo %d 000000
go ooooo %t gbooboboobooboobooboooboooooobobobobo
%20.16f 00 200000000000 150000
ogbooo he ob0ooooooobooboooboooobbooooon
uo he ugbobooboaobodgboooooo
goo %s gooooooooooboooon

3.2.2 0000

000000 (printf) 00000000000 D0OODOOODOOOOOO P3200325000000
gboooooooooo

(001 0000000000000 000000000000O00000 math.h 000 MPIO
ooooooboooooboobo 4000oboboboooooo
- 0DO0go¥oooooo
— O0oobobs3ooooooo
— pobobogoloooboboboo
- 0o0ooOoooooo

2c00000000000000000000000000000000
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b0 4000000000000 00000 math. hOO0O00O0O0O0O0O0OOCDODOO
00-mm0O0000000O0000DOO0OO0

gcc -o fuga hoge.c -1m
gooo
(00 2] 000 224466880 80000000000 OI600000000

(00 3] DU00OUO0O0UO0D 2000000000001 0000000000020000000
oboooboooo

ooo0 4 «000

#include <stdio.h>
#include <math.h>

int main(void){
printf (?%f\n”, M_PI);

return 0;

}

3.3 000000 scanf(p.326)
3.3.1 0000 0O0OOO0ODOOOOOOO

obo00o0Ooo0oDb0obbOOobDOoboD scanfOUOOODOO0OODOOOOOOOOODODOOODODOO
000000003 0000000000000000000000000D0000000000000
gbooooooooooboboooooooooboooooobooooboooboooobOoooooona
oooooooo

0000 (D0O000)0D00O000DD0O0000000000 hegeODOOOOOUDOO

scanf ("%1£f",&hoge) ;

gobooOooooooo
e scanf(O 0 DO00OO0O0OOOOOOCOOOOODOOOODO
e 410000 D0ODODODODOOODODO
e 0 hogeUUDUODOUOOUOOOOLOOOOODOODUOOOODOOOOODOOOOOO

oboooooooobbobob 20000000000

S000D00000000000000
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scanf (“%1f”,&hoge) ;

M —R—RFASEYRAD ]

EWVSTR
02:.000000000000000000 scanf 00000

obObOoOoooboobOOobOoboobOooooboobobbbOoooOoooboobooobOOoOooboOooOoon
ooooboooobobooobboooooobbooboboboboobOobOboooboooboobobobOoboDbo
booboobooboboobooooobooobobobobouo 20000000000 OOObOOOO0DOO
0000000000000 000000 (ke)0ooo

gobObooooooboboooobOoobboooobooboooobooobobooboOoooooooooon
gooooobobooooooobooboobobobog

0 200000000000000

] \ 00 O 00000 0o ooo

oo int hoge double hoge char hoge char hoge [256]

00 | scanf("%d",&hoge) | scanf ("}1f",&hoge) | scanf ("%c",&hoge) | scanf("%s",hoge)
OO0 | printf("%d",hoge) | printf("%f",hoge) | printf("%c",hoge) | printf("%s",hoge)
printf ("%e" ,hoge)

3.3.2 0O0O0OO0OO0OO

O000O0D0o0DO0b0O00000b00000Uy [Enter] UO0DOODOO [Enter] 00000
O00\»’000000000000000000000000000000O0\wOOOOOooooooo
00000000 0ooo (p335)00 300000 (p337)00000O0OO

e UDDDDOODODO%*ODODUODODOOO
e JODOOODODOODOGgetchar(OJ 10000O00OOO
e JODOODODDOOODgetsODOOOODOODODODDOODODO

gobooooobOooooooooooooooooobooobboooooooooboobobOobooon
ooobooooboooboooboboooobooboobooooooobooboooooooooboboobooon



oooooobooboboboooooobooobooOooobooooboooboboboooobooooooon
OO0 hoge0OOOOOODO

scanf (")1f%*c",&hoge) ;

oood

3.3.3 O0OO0ODOODO

obo sb00b000000b0bO00bOO00b00oooooooooooooobobobooboooon
goooDoDOoOoOoooooooo oKOoooo

ob0o 5. 0000000000000 000b000000000

#include <stdio.h>

int main(void){
int i;
double d;
char c;
char s[256];

0~ Utk WN -

9 scanf ("%d%x*c” &1 );
10 scanf ("%1f%x*c” ,&d);
11 scanf ("%c%xc” ,&c);
12 scanf ("%s%xc” ,s);

14 printf(”\n\n”);

16 printf (7?%d\n”

1)
17 printf (?%f\n” ,d);
18 printf (?%c\n” ,c);
19 printf(”%s\n” ,s);
20
21 return 0;
22
23 | }

3.3.4 0000

(00 4] DODO0O0OOO0OO0OO [deg)DODO0OOOOODOO (sin, cos, tan) D 0000000 0OO0O
goboobooboobooboboooobolooooooboobooobooooon

34 OO0
gobebbO0O0ooboobobbobbooobbooboobooooobon

od0d 6: 0000000000000 000DO0000000AO0

1 | #include <stdio.h>

2 | #include <math.h>
3



#define NP 50

int main(void){
int i, iy;
double x;
for (i=0; i<=NP; i++){
x = 2xM_PI/NPx1i;
iy = 30*sin (x)+40;
printf (?%s*c\n” iy, 'x’);

return 0;

}
4 00O
4.1 00O

gbogooboobooboboobobbooobooooo
(01 (0)0OODOO [1)00 12000 140 (pp.238280)0 100000000000 100000
oood

(02 (0)ODOO [1J00 15000 160 (pp.282-339)0 300000000000 300000
ogood

(O3] (0)OoUDOOODOOOOOO 200000000000 200000000000000
gbogooooooboobobooooboobo

[d 4] (D)DDDDDDDDDDDDDDDDDD? O00O#define0 O OO0 OOOO
#include <stdio.h>

#define NMAX 50

int main(void)
{

int i, sum=0;

for(i=1; i<=NMAX; i++){
sum+=i;

}
printf ("1+2+3+....+/d = %d\n", NMAX, sum);

return 0;

3

(05 (0)OOOUOOODOOOMPIOOUOOODOOOOOOOODOOOOOOOOODOOOO
0000000000000000({@ 000000 p40000 pp-323-324)
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.14

.141593
.141592653590
.14e+00
.141593e+00
.141592653590e+00

W wwwww

(06 (0)OOOUODOOUUOODOOUOUOOOUOOUOODUOODOODOOOOODOOOOO
f(z) =sinzcosz + /22 + cosx

0000 20000 [z,2)] 00 0NDOO00O00OO00O0OO0DOO000D00000 Az =
(z.—,)/NO f(z)0000000—00000000002,0 2.0NO0000000O
00000000000002,0 2, 0000000NOOOO0DOO0O0OO

(07 (0)OUOO 600000000 OOOOOOOOOOOOUOOOOOOOOUOOOOOO
(08 (0)OOOU ()00 1700 2000000000002000000000
(09 0000000000000 U0O0OODUODODOLUOUOODO0OOOO

4.2 ODOO0O0OOOOO

00 60 270 (O) AM 8:45
00 AA000000000000000000000000000
0000 000000000000
00 000 1000000000000000000000000

oooooooooogoo
gbooooobooboboooooboobooogd

ooo
5E 0O0OO0O OO0
g 20000000ooboboobOoOooOobOobOoboOoOooboo0oOoa

Ooon

1] 0000.00 CO0D00 0O00O0.000000 0000OO0oOo, 2004.
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